#wxm GEZ-IMEE hDIR—Te+10Va3-F1>9

mA =&

©® BKA - BKOBUK-BIRA - AaNMEOEEG - NLHEE E
mE £

NF1a>a—F1 > JRICERSEI LR T
PEEEBIELET,

hOr 5AOF%. RIBEHLSSBETTCETL IV
—ZXT9,

(SEE D B CHCE % 44 & 9 (C AR 4N A RTBE 4 Back
Pull OUttEBE T T » SR « RIEPEZ T,

(4)%h=E - IR EMERED & K LWEEIICh 7z - THEAW -/
FET,

WEELHF
R GEZ-2M GEZ-4M

B &k E|BEK-EK(EH58~8.6)

& B | 0~40C(CHRiERZZE)

| [BK] 1851 7 iBE : 200ng/LLL T

! B4 - B : 50mg/LLT

3 B © 0.3ml T
# B A2~7|SCSi14

X # | SUS316 ()

V=YY J |FCHFAMnraA-T127
T -2 . & 8 | 2R ERT

& | =t8200V

| A#IEEEE | 50Hz:3,000mn~" | 50Hz:1,500min""

3 60Hz: 3,600mn~" | 60Hz:1,800min™"
B B B M| E RN
W & A2~ 70-X sO0—Xx

LB E | XAZANY= | AHZHNY-L

| & T | B E#MT ey

/72K |JISIKER(Fra>a-F12%)

ZiEE (7 EIWN) | FAO0L -T2 78R RTAh (N-9.5)

ZMOfth: /L — (2.5PB5.1/0.8)

WEFEIAES 1)
0.8 ﬁtﬂéfg—&xo.ogs MPa [10 ﬁﬂ]ﬁi%& et/

(1) HHEREZB AL,

= EHEA
GEZ-405-2M0.4
© @0 ©
DOFR> TH @T—21EH (2:218 4:41R)
@A OE (mm) B®FE—2HB KN

QR (5:50Hz 6:60Hz)

A
7

GEZ-2MF
8772 RERINRSRTY,

GEZ-4M7t
8772V RERINR&RTY,

W% E£1512 (20C)

A% (mm) GEZ-2M GEZ-4M
65X 50LF —6m (3%2) —6m (3%2)
80X 65 —5.5m (%2) —6m (3%2)
100X 80 —3m —6m
125X100 — —6m
150X125 — —5.5m

(x2) —MBLIWENF HY E T, HERETB L0,

WREMNEM

£ - z

2SN BREATT

~ - b

FOB

Hhoy TN LT

78— 1t

oKk 7 Z 7

WA E &

ok g —I

OMF AT v T
® U (—EbHkIERR <)

Ok g —JHIEDHR
@ EREARIL ~
[ ¥ i)

404



i o S

[ GEZ-3MJE

NI%K-7 )

W& A X (GEZ-2Mm7)

60

[FI#AEERE A 3,600min~"

] []
50 Buns
NN @ WW”W”>\7 \7\<::777 e~
2 ----.l::‘--\\ N I~ I~
] ™ T :“\~‘ N
~ N N ™™ N
% L = :\; \Egur\\h BES
~—| * N
= =NHH® 3 g N H
2 N = —Ho -
2 Bl = N
©) _ X
2 15 = N \ H
N ®
2 L] N
—~ N
m 10 @ X
‘\\ @ \\ 3\
8 \
\
6 \
5
4
(3).06 0.08 0.1 0.15 0.2 0.3 0.4 05 06 08 1.0 15 2.0 3.0
it H 2  (m/min)
Bt # F (GEZ-2MF)
GA | MEH | 75 PR | 2 % = | At | RARL| #AMA
O% | 0% _ =X HHE 251 HHE 251 HHE 2B 2R E N | BiRESHEICE
mm | mm | KN [mymn: m |mYmin! m | m/min! m m | Mgl
1 | GEZ-40X326M-2MN0.4 | 0.4 | 0.06 | 125 | 0.16 | 95| 025! 5.0 | —1.2|0.84{86/ | QRE-01A| PX-60Z
0| 32 2 | GEZ-40X326M-2MNO.75| 0.75| 0.06 | 19.8 | 0.16 | 16.2 | 0.25 | 10.8 | —6 | 0.77{7.9] | QRE-01A| PX-60Z
3 | GEZ-40X326M-2MN15 | 1.5 | 0.06 1 28.0 | 0.16 | 25.2 | 0.25 1 20.5 | —6 | 068/6.9/ | QRE-02A| PX-75Z
4 | GEZ-40X326M-2MN2.2 | 2.2 | 0.06 ! 37.0 | 0.16 | 33.5 | 0.25 ! 25.0 | —6 | 0.58(59] | QRE-02A| PX-85Z
5 | GEZ-50X406M-2MN0.75| 0.75] 0.12 | 15.8 | 0.25 | 12.8 | 0.4 | 6.0 | —3.2 | 0.80{8.2] | QRE-01A| PX-60Z
6 | GEZ-50X406M-2MN15 | 1.5 | 0.12 1 23.5 | 0.25 1 21.0 | 0.4 | 152 | —6 |0.74{75 | QRE-02A | PX-75Z
50| 40| 7 | GEZ50X406M-2MN22 | 2.2 | 0.12 1 31.0 | 0.25 | 27.8 | 0.4 1| 21.5 | —6 |067(68 | QRE-04D | PX-85Z
8 | GEZ-50X406M-2MN3.7 | 3.7 | 0.12 ! 41.5 | 0.25 | 44.5 | 0.4 ' 355 | —6 |054(55 | QRE-04D| PX-95Z
9 | GEZ-50X406M-2MN55 | 5.5 | 0.12 | 57.5 | 0.25 | 53.5 | 0.4 | 44.5 | —6 03940/ | QRE-04D| PX-95Z
10| GEZ-656-2MN3.7| 3.7 | 0251 30.0 | 05 126.0| 0.8 | 16.0 | —6 |066(6.7/ | QRE-04D| PX-95Z
65| 50|11 GEZ-656-2M5.5 | 55 | 0.25 1 420 | 05 136.0| 0.8 ' 220 |—6 |054[55 | QRE-04D| PX-95Z
12| GEZ-656-2M7.5 | 7.5 | 0.25 ' 52.0 | 0.5 ' 46.0 | 0.8 ! 325 | —6 |043(44] | QRE-04D| PX-95Z
13|GEZ-806-2M3.7 | 3.7 | 0.5 1200 | 1.0 | 142 |14 | 6.8 |—4 |074{76 | QRE-02A| PX-85Z
80| 514 GEZ-806-2M5.5 | 55 |05 1300 | 1.0 | 230 | 1.4 1| 145 | —5.5]/066(67 | QRE-05D| PX-95Z
15| GEZ-806-2M7.5 | 7.5 | 0.5 1385 | 1.0 :30.5| 1.4 ' 23.0 | —55 06162 | QRE-05D| PX-95Z
16| GEZ-806-2M11 |11 05 !450 1.0 !390 |14 ' 32.0|—55/|050(.1 | QRE-05D | PX-110Z
17| GEZ-1006-2M11 | 11 1.0 134020 1 245|28 | 135 |—3 |[062(6.3 | QRE-05D|PX-110Z
100| 80|18|GEZ-1006-2M15 |15 1.0 139.0 |20 132028 120.0[—3 [054/55 |QRE-05D|PX-110Z
19| GEZ-1006-2M18.5 [18.5 | 1.0 '48.5 | 2.0 ' 39.5 | 2.8 ' 28.0 | —3 04647 | QRE-08F | PX-120Z

405




[ nom-7 GEZ-MJE )
WE A X (GEZ-4vF)

FIHAE R 3% EE 1,800min™"

60
50
40 ~
20 | oI
30 I~~~ @ \\\Q Q‘~ X \\
1 l‘:: 19) y \\ @1}
N I I N (I A O NN N N A | \1;4/‘ :8 ™N [i’ " %7 Aq 111
| | | I \\
+ PTG Olfiiini e s e EANE
[ N~ N [ \
% 15 ‘5‘ ! = N N
] N = 121N\ ()
o 2 @ =y \
2 e ey N . N S oI ® A
. 10 ™~ ~
= H-a
s HHC 4 AN 7 i NN
= \
6
5 T 5 =
2
4
806 008 0.1 0.2 0.3 04 0506 08 1.0 2.0 30 40 50 6.0 80
& £  (m/nmn)
Bt & X (GEZ-4M#)
A |MEH | 25 PR | EIEIE | At # | SAWE FFEEA
nE o’ | W E HHE 251 HHE 258 HHEE ¢BR|EHEE | BHRESERR
mn | mm | = W [mmint m [mmnt m [mmin m | m  [WPalg
1 | GEZ-40X326M-4MN0.4 | 0.4 |0.063! 9.8 |0.125! 9.2 | 0.2 | 7.5 | —6 |0.85[88 | QRE-02A | PX-85Z
40| 32| 2 | GEZ-40X326M-4MN0.75| 0.75]0.063! 15 |0.125! 14 | 0.2 ! 12 —6 [081(83) | QRE-04D | PX-85Z
3 | GEZ-40X326M-4MN15 | 1.5 |0.063! 21.5 |0.125!20.8 | 0.2 ! 19.2 | —6 [074[75 | QRE-04D | PX-85Z
4 | GEZ-50X406M-4MN0.75| 0.75]0.125! 11.8 [0.25 ' 10 | 0.4 | 6.8 | —6 |084(86 | QRE-04D | PX-85Z
50| 40| 5 | GEZ-50X406M-4MN1.5 | 1.5 |0.125! 19 |0.25 '17.2 | 0.4 | 14 —6 [0.76(78) | QRE-04D | PX-85Z
6 | GEZ-50X406M-4MN2.2 | 2.2 |0.125! 21.5 025 20 | 0.4 ! 17 —6 [0.74(75) | QRE-04D | PX-85Z
7 |GEZ-656-4M1.5 | 1.5 |0.25 } 122 |05 105 | 0.8 | 7.5 | —6 [083(85 | QRE-04D | PX-85Z
65| 508 |GEZ-656-4M2.2 | 2.2 |0.25 | 17.56 |0.5 ' 155 | 0.8 | 11.2 | —6 |077(79 | QRE-04D |PX-85Z
9 |GEZ-656-4M3.7 | 3.7 |0.25 |23 |05 1212 | 0.8 | 175 | —6 |073({74| QRE-04D | PX-95Z
10| GEZ-656-4MN5.5 | 55 [0.25 | 345 |05 1325 |08 |27 —6 |064(64) | QRE-04D | PX-110Z
11| GEZ-806M-4M2.2| 22 |05 115 (1.0 | 95|16 | 55| —4 |084(86/ | QRE-04D | PX-95Z
12| GEZ-806M-4M3.7 | 37 |05 | 182 1.0 1145 |16 | 85| —6 |076{78 |QRE-04D | PX-110Z
80| 65|13/ GEZ-806M-4M5.5| 55 |0.5 | 22.8 |1.0 119.8 | 1.6 | 14 —6 [0.72{7.3) | QRE-05D | PX-110Z
14| GEZ-806-4M7.5 | 7.5 |05 |29 1.0 127 | 1.6 |21 —6 [068(69) | QRE-07F | PX-120Z
15| GEZ-806-4M11_[11 105 375 /1.0 355 | 1.6 |29.5| —6 |060/61| QRE-08F |PX-130Z
16| GEZ-1006-4M3.7| 3.7 |0.8 | 125[1.6 110 |25 | 55| —6 |0886|QRE-04D |PX-110Z
17|GEZ-1006-4M5.5| 55 |08 | 16.2 [1.6 114 |25 | 95| —6 |081/83| QRE-05D | PX-110Z
100| 8o 18/GEZ-1006-4M7.5| 7.5 |08 225 |16 119.2 25 |13 —6 _|075(76 | QRE-07F | PX-120Z
19| GEZ-1006-4M11 |11 |08 30 |16 127 |25 |19 —6 |066(6.7) | QRE-08F | PX-130Z
20| GEZ-1006-4M15 [15 0.8 | 36.5 |16 1325 |25 |25 —6 |061(62) | QRE-08F | PX-130Z
21|GEZ-1006-4M18 [18 |0.8 ' 44.5 [1.6 | 41 25 1315 | —6 |053(54 | QRE-09F | PX-130Z
22 |GEZ-1256-4M3.7 | 3.7 |1.0 '115|20 | 75|26 | 4 —6 [0.84{86) | QRE-05D | PX-120Z
23| GEZ-1256-4M55 | 55 [1.0 | 152 |2.0 312.2 28 | 8 —6 [081{83) | QRE-05D | PX-120Z
24|GEZ-1256-4M75 | 7.5 [1.0 119520 16 | 315! 9.8 | —6 |077{9/|QRE-08F | PX-120Z
125|100 |25|GEZ-1256-4M11 |11 [1.0 ! 24.2 [2.0 ;215 | 3.15! 152 | —6 |073{74 | QRE-08F | PX-130Z
26| GEZ-1256-4M15 [15 [1.25 |30 |25 |24 |38 |15 —6 |064(65) | QRE-08F | PX-130Z
27| GEZ-1256-4M18 [18  [1.25 ! 345 |25 |29 | 3.8 |20 —6 |061(62) | QRE-09F | PX-130Z
28| GEZ-1256-4M22 |22 |1.25 |42 |25 |33 | 3.8 |19.5| —6 |051(53] | QRE-09F | PX-130Z
29|GEZ-1506-4M15 [15 |20 22 |40 |17.8 |56 ' 11.5 |—5.5]075{17|QRE-09F | PX-130Z
150|125 |30| GEZ-1506-4M22 |22 |20 '30 |40 '24 |63 |12.5 |—5.5|067/69 |QRE-10F | PX-130Z
31/ GEZ-1506-4M30 [30 2.0 136 140 !315 ) 6.3 | 18.5 | —5.5]061{63 | QRE-10F | PX-130Z

406



i o S

( GEZ-3MF NIK—7 )

WA E XA
* GEZ-4M D354

(F) 77>V IIERMBRTY

No 2 5 7 H No & (] % #
1|(r—o>7 FC++qa>a—F1> %7 (14 |REEY T SUS316

2 | F— T hN— FC+#+q1O>a—-7+¢>%7 [15|%— SUS316

3|1 rT SCS14 16 |+ v b SUS316

4 | #h SUS316+4S35C 17 | KE1D1E o4 (NBR)

5 | E#s — 18 | K] DIF I 4 (NBR)

6 |ENAE FC 19 | BhARF FC

7 BT HIN— FC 20 | XA SPHC

8 | XHZHINY—ILH/IN—|SCS14 21 |[~—x FC

9oy I 4 (NBR) 22 |#ikF A — K SPCC

10| xH=ZhHL— — 231757 %C3771BD SCS13

M| X hyN=1) >y SUS316 241 75 SCS13

12| < I¥A%kiEHRL SUS316 25|75 MCAC406+d L SCS13
13|07 I L (NBR) 26|75 FC+rq1o>a—F4>%

WA FEGEZ-125LUF - A5CGEZ-150

W7 52 FE USIKERFrora—51>%)
GE) 77> JEIMBRTT,

t

| f ~
1T En'f dlc| Dl t]t]n na@Esw
I 32 |PT114 100 (135 | 20 | 2 | 4 |20(M16)
a 40 |PT115 105 [140 | 20 | 2 | 4 [20(M16)
ool 50 [PT2 |120 (155 | 20 | 2 | 4 |20(M16)
+——3%9 65 |PT21% 140 |175 | 22 | 2 | 4 [20(M16)
— 80 |PT3 |150 (185 | 22 | 2 | 8 |20(M16)
100 |PT4 [175 (210 | 24 | 2 | 8 |[20(M16)

407



AIHR—F GEZ-;M#-
)

B~ % EREEICKL £ LT RMAGRER ZER< A,
77> DJIS10KIEFS (HEIEP.A07TEBIRC £ & W,)
OGEZ-2M¥F

B “iz
T 1]g2|ntl | n2
ds d S DT 9 9 n n — ﬁ:f
40 | 32 | 29 | 29 [105[100] 4 | 4 ==
50| 40 | 29 | 29 |120[105| 4 | 4 _ o
65|50 | 35| 29 |140[120| 4 | 4 2 +1g3
80| 65|39 |35|150/140| 8 | 4
100 | 80 | 45 | 39 [175/150] 8 | 8 NF—— |
PT3/8(7Z J 1) ML
(Rt LERIEA)
PT38(T75 7)) = —_—
SAERIE
(AL RER) WS % o
1 F— T
I il
[m] T L\ S—
ni-M16 ‘ ! L
l Il Il
T | JAD,
W BA BM
BL
4 FA
XTI Y BRI NMIEINGBRTT,
o & P T4 KT N = Z A& ¥ & ZTDM B2
mm L kW |sc|pL|BI| BL|BA[BMBP1/BP2]BW1BW2|DH|SH| TL |AD[FA] W] ML|ZF1[zF2[ZH] 7 | kg
GEZ-40X326M-2MN0.4 | 0.4 | 65]265] 20| 467] 82[300]200] — [236 | — [280[155] 506]35[100[244]238] — [— [ — [ — | 34
40x30| GELAOKR6N2UNOTS | 0.75] 65[265/20 | 466| 82/300/210] — [246 | — [280[155| 540(35[100[260/272] — [ — [ — [ — | 41
GEZ-40X326M-2MN15 | 1.5 | 65/265] 20| 516 92[330]230] — |266 | — [307/167| 590(45[110(283(322| — [ — | — | — | 48
GEZ-40x326M-2MN22 | 2.2 | 80[360] 25| 648[112]420]290] — |336 | — [347[187] 685]50[130] — [322|—|—[ =] —] 64
GEZ-50x406M-2MN0.75 | 0.75] 65]265] 20| 468] 82]300]230] — [266 | — [317[177] 540[35[100[270[272] — [ = =T 41
GEZ-50X406M-2MN15 | 1.5 | 65]265] 20| 516 92]330]230] — |266 | — [307[167| 590]45[110(283[322] — [ — [ —| = 47
50X40| GEZ-50x406M-2MN2.2 | 2.2 | 8044025 | 726/127|480]290] — [336| — [307/167] 765|60[140] — [322]— || —|—|67
GEZ-50X406M-2MN37 | 3.7 | 80]440] 25| 818[138|540[320] — |366 | — [357[197| 825]70[150] — [382] — | — | — | — | 94
GEZ-50X406M-2MN55 | 5.5 | 80]440] 25| 819[138]540]350] — |396 | — |405/225] 889]70[150(416]446] — | — | — | — [129

GEZ-656-2M3.7 | 3.7 | 80/440/25| 816|138|540|320| 320 | 366 | 366 |317|177| 819|70|150| — |376 |-22|— 8/168| 27 | 91
65X50| GEZ-656-2M5.5 | 5.5 | 80|440|25| 816/138|540|350| 350 | 396 | 396 |357|197| 889|70|150| — |446 |-67| 11]185] 27 |120
GEZ-656-2M7.5 | 7.5 | 80/440/25| 816/138/540|350| 350 | 396 | 396 |357|197| 89070150 — |447 |-67| 11/185| 27 |113
GEZ-806-2M3.7 | 3.7 [100/380| 25| 648|112]420|290| 290 | 336 | 336 |357|197| 759|50|150| — |376 |-82] 7|188 27 | 84
GEZ-806-2M5.5 | 5.5 [100/460| 25| 816|138|540|350| 350 | 396 | 396 |357|197| 909|70|170| — |446 |-67| 11]185 27 |[127
GEZ-806-2M7.5 | 7.5 10046025 816|138|540|350| 350 | 396 | 396 |357(197| 910|70|170| — |447 |-67| 11]185| 27 |121
GEZ-806-2M11 |11 10046025 916/158/600|400| 400 | 458 | 458 |405|225( 1038 | 70|190(495| 575 |-101| 22|207| 56 |149

GEZ-1006-2M11 |11 [100/460| 25| 916/158|600|400| 400 | 458 | 458 |405/225| 1061 |75|175/495/598 | 47| 3 1121203
100X80| GEZ-1006-2M15 |15 100|460/ 35| 916{158/600|400| 400 | 458 | 458 |425|225/1061 | 75175495598 | 47| 3|148|PTiir)211

GEZ-1006-2M18.5]18.5 [100/460| 35 |1016/178|660|400| 400 | 458 | 458 |425/225|1105]95|195/495/642 | 47| 3 112220
(F) & (—) THER. REREFAERT,

80X65

©® HEIZERER L btk

O | o | BEERIVE O | ;| BBERIV B

di | de H "= di | d- H "%

40 | 32 M12X160 1.5KWLLTF 80| 65 | M16X200 7.5kKWELF
M20XX200 2.2KW 1001 80 M16X200 7.5kW

50 | 40 M12X160 1.5KWLLF M20X250 11TKWELE
M162X200 2.2kWLIE

65 | 50 | M16X200 2.2, 3.7kW

408



[ GEZ-3MJE

OGEZ-4M¥

A | REEH 7
H® 0% ST DT | g1 g2 |nt|n2
dT d2 g
40 | 32 | 29 | 29 |105|/100| 4 4 o
50| 40| 29| 29 [120(105| 4 4
65|50 | 31 | 27 |140[120] 4 | 4 - "
80| 65| 33|31 [150(140| 8 4 PT38(75 ) PL 3 ML
AT
125 |100| — — [210/175| 8 8 (i LEBIER) ofST SC
PT3/8(7 5 711)
150 |125| — | — |240|210| 8 8 (BAEMER)
E
I &
w
24-H
HATSTT ERKIL NIBRINMBRTT .
O & , & AT N W& v T & Z 0t 5
mm o W [sc]pL|BI| BL [BA[BM[BP1[BP2[BW1[BW2|DH[SH| TL [AD [FA] W[ ML[ZF1[zZFdZH] Z | kg
GEZ-40X326M-4MN0.4 | 0.4 [ 80]440[25] 647[111]420[290]210 [ 336 | 256 [347[187] 681] 45[125] — [238 | 23]-40[158] 22 | 51
40X32 | GEZ-40X326M-4MN0.75 | 0.75| 80|440|25| 733 [122[480[290]290 | 336 | 336 |395|215] 678 55[135| — [235 |- 8]-33[207| 22 | 64
GEZ-40x326M-4MN15 | 1.5 | 80]440]25] 734[123]480[290]|290 | 336 | 336 [405]225] 759] 55[135] — [316 [-42]|-30[208] 28 | 75
GEZ-50X406M-4MN0.75 | 0.75] 80[440[25] 727]121]480]290[230 [336 [276 [347]187] 710] 55]135] — [267 |- 8]- 3[179] 22] 57
50X40 |GEZ50x406M-4MN15 | 1.5 [100[460 25| 731[122]480[320|320 | 366 | 366 [395|215| 779| 55155 — 316 |-42|-45/198| 28 | 77
GEZ-50x406M-4MN22 | 2.2 [100[460| 25| 731122|480(320|320 | 366 | 366 [405|225| 818 | 55]155| — | 355 |-67|-37/205| 28 | 85
GEZ-656-4M1.5 | 1.5 [100[460]25 | 731][122]480(320]320 [366 366 [395[215] 779 55[155] — [316 [-42][-45[198] 28 [ 81
e5x50 |GEZ-656-4M2.2 | 2.2 |100/460|25| 731[122480|320|320 | 366 | 366 |425/225| 818 | 55155| — |355 |-67|-37|205] 28 | o1
GEZ-656-4M3.7 | 3.7 [100[460|25 | 821|138]540(320|320 | 366 | 366 |425|225| 835| 70[170| — [372 [~ 6]|-24|208] 28 [110
GEZ-656-4M5.5 | 5.5 [100]460|35 | 825]140]540]400]320 | 458 | 378 [490|265| 891 55[155] — [428 | 48] 4[213[ 36 [143
GEZ-806-4M2.2 | 2.2 [100[460[25 | 822[138]540(350[290 [396 | 336 |425|225] 818 55[155] — [355 |- 7]|-52[205] 28 | 97
GEZ-806-4M3.7 | 3.7 [100]460|35 | 823|138(540/400|320 | 458 |378 [470|245| 835 55|155| — [372 |-21|—24[228] 28 [121
80X65 |GEZ-806-4M5.5 | 5.5 [100/460/35| 825140[540|400|320 | 458 | 378 [490|265| 891 | 55155 — |428 |-48|-44|213| 36 |141
GEZ-806-4M7.5 | 7.5 [100[570]35 | 1029 [179]660 [440|350 | 498 | 408 |535|285]1039 | 80[180| — |466 | 51| 19]233] 36 |190
GEZ-806-4M11 11 [100[570]35 | 1140 [199]740440] 440 [ 498 | 498 |535|285] 1168 | 100 |200]505]595 | 78] 16|223| 52 |233
GEZ-1006-4M3.7 | 3.7 [125]485]35 | 823[138]540[400[320 [458 [378 [470[245] 860 55[180] — [372[ 21| 24[228[ 28 [129
GEZ-1006-4M5.5 | 5.5 [125/485|35 | 825|140(540)400320 [458 |378 [490|265| 916| 55|180| — [428 | 48| 4[213] 36 [147
100x80 | SEZ-1006-4M7.5 | 7.5 [125/595/35 | 1021 |178660(440|350 | 498 | 408 |495/245|1064 | 95[220| — [466 | 36| 19]193] 36 |172
GEZ-1006-4M11 |11 [125/595|35 | 1146 |199(740 490|400 | 548 | 458 [590|310|1193 [100[225| — [595 | 78| 4[248| 52 [265
GEZ-1006-4M15 |15  [125/595|35 | 1146 |199(740(490|400 | 548 | 458 [590|310|1193 [100[225| — [595 | 78| 4[248] 52 [293
GEZ-1006-4M18  [18.5 [125/595|35 | 1146 |199]740490|400 | 548 | 458 |650|335| 1241 100 [225|553| 643 | 83| 18[274] 65 [325
GEZ-1256-4M3.7 | 3.7 [125]595]35 | 927[158]600(440320 [498 [378 [515|265] 970 60[185] — [372 [-66]|-84[248] 28 [159
GEZ-1256-4M5.5 | 5.5 [125]595|35 | 923|158]600(440 350 | 498 |408 |515|265|1026 | 60[185| — 428 [-93|-64[213] 36 [170
GEZ-1256-4M7.5 | 7.5 [125/595|35 | 1026 |179]660 (440|350 | 498 | 408 |565|285|1064 | 80[205| — 466 [-51|-19]233] 36 [199
125)X100| GEZ-1256-4M11 |11 [125|595]35 | 1140 |199|740 440 | 440 | 498 | 498 [565|285|1196 | 100 |225 |521|598 |-78|-16/223| 52 |291
¥ GEZ-1256-4M15 |15 [140|610|35 | 1146 |199|740(490 | 400 | 548 | 458 [590|310|1255 [100[240| — [642 [-78| 4[248] 52 319
s GEZ-1256-4M18 |18.5 [140(610|35 | 1146 |199]740(490|490 | 548 | 548 [590|310|1277 [100[240|553] 664 [-83|—18[249] 65 |340
A GEZ-1256-4M22 |22 [140]610|35 | 1146 |199]740(490 490 | 548 | 548 |650|335|1277 [100[240|553] 664 [-83|—18[274] 65 [409
& GEZ-1506-4M15 |15 |140[610]35 | 1146 [199]740[490]400 | 548 | 458 |650(335] 1255 [ 100 [240] — | 642 [-78] 4]273[ 52 [328
150X125| GEZ-1506-4M22 [22  [140|610[35| 1146 [199|740(490|490 | 548 | 548 [690|335|1277 | 100|240 |553| 664 |-83|-18[274| 65 445
GEZ-1506-4M30 [30  [140[610(35 | 1146 [199]740(490|490 | 548 | 548 [690|335]1315 | 100 [240| — | 702 |-114| 143|574 78 |482
(GE) 'R (—) TEE. RERNAERERT,
® HEAZERRE AR IL Mk
PRIER] EEFLT | o o | [PE[GE] EERAT ] o
di | do H di | do H
40 | 32| M16X200 80 | 65 M16X200 1.5kW
50 | 40| M16X200 M20X250 2.2 E
65 | 50 M16X200 3. 7KW 125 [100 | M20X250
M20X250 5.5kW 150 |125 | M20X250
W45 E &
OkTa—T- kR 5 % [ e, (O I—F1 JHIFLTEy b
Mk 3 —3 | ORe5X50LL LA [#%32~100mm
P2y 1BL.65X50D TR &K<,
IED 7 S [son : 2.2kWLLl'F]
ATy YY) | 6oHz : 37T

409






